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statement or answers the question,

represented by the letter A on the number line?
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st borrowed $40.23, then borrowed another $15.75 from his father.
‘back $20.75. How much does he still owe his father?
: b. $45.25 . $24.50 (@) $35.25

rature of g feezer was ~44°C When the technician checked the freezer today, its
creased : ‘Dewnninelhelernﬁaarurecﬂh: freezer today.
8 b, 54°C AT Z14.2
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wmezer was ~+4°C. When the technician checked the freezer today, i

. Determine the temperature of the freezer today.
: ok 14 RC 14.2°
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change in value?

~51.45, A person owns 190 shares.
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it has $1298 in her savings account. She withdraws $95 each week. 5 ;
fior calculating the amount of money remaining in her account is 4 = '~ 5%, where I"dollars is

A= 1296 -~ 95(13)
= /29% - /235
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Determine the amount of money remaining in her account after 13 weeks
(a) 63 b. $1235 c. $1216 d. $1190
Short Answer _5
—~0.&3 ¢
16. Order these numbers from lcasfto greatest. 0,77 4
O 5 1 e
= - = - -0.75 4
H 67 3 S P
—0,15 5-0.77.. ,-o.esr_L‘a.&ﬁ... 5
1 17. Determine this sum. g : T T e e
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s $45.25 working in a coffee shop, and $18.25 for babysitting.
ends $31.64 on ant supplies and $15.48 on a computer game.
ke mndditlm statement (o represent Melissa's income and expenditure.
much money does Melissa have left?

N LB A 15 - 3 by Q.49
&) 4545 + 1%, &

thl'ia:‘prussion. Show your work. -

a)_z% p) 2637

esort has 21 cabins, all of which need to be repainted.
: Mul‘plhtlng a cabin is $490.47.

cation statement with rational numbers to determine the cost of painting the cabins.
a budget of $10 524.00, .
ney Will be left in the budget after all the cabins are painied?
M
b i o W 1A

Jan 15-2:26 PM



Elimination - Word Problems.notebook January 15, 2013

o 2 i Yo i T
o be repainted, ' : ,‘
nal numbers to determine the cost of painting the cabins,

‘.'

dget after all the cabins are painted?
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